TotalMarks:.... Class:10th Time:

Test:Math

Attempt ......... questions

" Find the discriminant. 4x* —7x~2=0 4x?=Tx-2=0 -/ 0 sI )

2 Use synthetic division to find the quotient and s_/psb* 3l stee® Jb2_seZ S i1 =" s
remainder when (4x -5x+15) + (x+3) (4x-5x+15) * (x+3) ==

3 Write the quadratic equations having _J,‘,"’J:,],L,-(jj,,‘,dl,uj,,d"j@ﬂ
following roots. 1,5 1,5

4 Find the discriminant. ¥2—-3x+3=0 ¥ =3x43=0 _J/[':L’”ow@/’

5 & "‘ . " P =
If M is cube root of unity, form an equation LS Ll Slin *“‘d ”';‘? 636 /1
whose roots are 3® and 3 ®° -Ur3ms 30

® Find p, if the roots of equation x> — x+ p*> =0 X —x+p*=0 .:,ut,x,)/l_q/r;h’;,.EJp
differ by unity. w361

7 Find h, if the roots of the equation X ~hx+10=0 £ y’~hx#40=0 ..-,uuﬁq/ (,ch,&[h
differ by 3. L1808

8 IfG,B are the roots of equation x2—7x+9=0, ,;5__,g‘r__,?u,q.vfb',)£x2—7x+9=0._»_,|5{/-(1f3)¢|
form quadratic equation whose roots are:20 and 20 2 _u:/t;.:,bl/ e s
2B

Attempt ......... questions

i.y:;';_J,;’.u:fu""5;£x2-3x+6:0..:.13L/GB:f|

Ifa,B are the roots of the equation x* =3x+6 =0 )
: a -
Form the equation whose roots ate a p B‘aE Ll
Ba ’
2 Solve by using syntheticd¥iston , if cil-Lou i) S E i
-1 is the root of the equation 4x -x'-11x-6=0 ek 4x-x-11x-6=0
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